Chemistry 11 Name: \(ej

= . Date:
Solution Practice Test Block:
1. During a lab activi ou dilute 45 mL of a 8.5 M HCl solution to a final volume of 120 mL. What is
the resultin

a. 23M C\V, =Cz2V~

(b.)32M (8.5MY(4SAL) = Co (1206L)
c. 51M
d. 23M Caz 32

2. Which of the following equations correctly represents the dissociation of calcium chloride in water?
a. CaCl (aq) > Ca+(aq) + Cl‘[aq)
b. CaClz aq) -> Caz*(aq) + Clag)
c. Y CaCl; aq) 2 CaZ*aq)+ 2Cl (g
. CaCl; (aq) T H,0 > Caz"(aq) + 2Cl‘(aq)

3. When added to a solution containing Mg2+, which anion will create a precipitate?
da. NO3'

ow Solubi ‘\3
c. JOH- I
. Sz
4. When added to an iron (III) iodide solution, which of the following compounds will create a
precipitate?

a. cesium nitrate Felswn + NH,0H (aq) — NH:,I(.“ + Fe(od
b. hydrochloric acid L

copper (1) sulphate
mmonium hydroxide

5. How man@)f 0.550 ould be required to titrate 25.0 mL of a 0.388 M solution of

i)

hydrochloric acid? NaOH + Hcl — Nac) «+ H,.0
17.6 mL
b, 25.0 mL 0.025L oy x 0388 unt L wlusor 1 0ou . 10006L
c. 35.4mL n lealne “0.SSomt L
d. 46.9 mL
ol WAL A

6. A student must prepare a 3.00 L solution of 0.750 M NaOH. She is given a stock solution of 12.0 M
NaOH.

a. Wha€yolume of stotksolution is needed to prepare the final solution?
C| v \ = CZ \/1_
(12.oM) (v,) = (0.2SoMm) (2 vol)

\/\=]o.\&@L,wu

b. What volume of water was added to prepare the final solution?

330L - 0.13}L =}2-3’Lﬂu |

—_—



7. MnSO4 was dissolved in water. What is the ionization equatton?
24 2-

8. A chemist mixes a 225 mL of a3:8 M NazCO3 solution with 3.8 g of K2CO3. What is t

of each ion)in this solution?

[NO\‘I_CD.&‘) DL,_COS]
- 58' co 000 m L
0, — 2Na™* ~C0s* J¥es | 100mL - eeliaees
Naz (o : 225~L 1L T 138.214 0.12Mpqee,

KzCQs 4 2[* * CDSZ-

L 2 -
[Na*)=7LtM  [Cog2) =39M L) = 0.2y
9. For the following solutions, use a flow chart to describe the process of separating the ions from

each other. (0\3’/\0’ AAs Wen FOSJ"‘DQ-)
a. Mg?+, Pbz*and Zn2+

)Qdd NaClay
Mq®* oS PecClz ¢sy ppt
)@w NaiS)can
Mgt ZaSco PEY

| @ Add NatHr..)
Mj(“H)z(s) {a

b. OH-, P43, S2-
@ﬁdd S( (Nos\z (%)
OH-, ST Sg(Poy): n 2l
®AdA MS(N°3\)1 (ay)
Qe- / M3(°H\z<n pet
|®Ad¢l PL(ND,ng Caq)

F\’ S(:\ Hr\-

10. Predict the products in the following reactions. Then, balance the equations. Be sure to indicate the
state (aq or s), of each product.

a. CaCly aq) + 2 KNO3(aq)9 C&(Nosyg(\,} + 2 tc\(q,)

b. Z HCI o + Ca(OH)z aq =2 ZHzo Ceq) + CO\C‘-;_(.’)



11. Write a formula equation, complete ionic equation and net ionic equation for the following

reactions:

a. Strontium hydroxide and zinc chloride

Formula Q¢ (0\—\\;(\.,\ 4 ZnC\z“ﬂ — SrClzcuyy * 2(\(04‘0;0)
24 - + = : -
Cb";':\‘ie - S( (e * 2°H (o) * Z(‘L(‘q\ + QC‘ Ceal .S(z:-q) A 1Y) +2n (OHBZ(A’)
,\- —
Nl(-o‘f‘ Z(\z Ce9) + ZDH (a_i3 - Zr\ (OHBL(J)
me -

b. Ammonium bromide and copper (I) sulphate

2NH4Bery + CoeS0ygay — ZQUBcy) + (NHq\zSo%,,

- + 2~ g Qp—2-
Zf\)!')\q+(.‘\ + 2&( (aq) ¥ ZCU (25) * Seq’(%ﬂ ZCU‘Sf(,) + ZM-\q Cag) +-’0|.|.L(‘1)
+ -
2Cv ) Y2 B0 ey 2CuBrcs

12. Determine whether the following are soluble or have low solubility.

a. Barium chloride / low solubility (circle one)
b. Sn(OH)4 soluble Llow solubility (rircle one)

13. A titration was performed that required 12.7 mL of 0.150 M Mg(OH); to titrate 25.00 mL of a
hydrochloric acid, HC], solution. Determine themolarity of the hydrochloric acd

7 HC\  + M3(°H\z I Mj Clz + 2H20

| L 0.15% to) |
12 9l MH), 2 ol pq)
~ MJ\’OH\,.X m X 7 X = O.OOS&IMMHQ‘

l ('"\’\ Ma(OH\g

0.00281 molyg 1000 1 L
™

25,00 mL L = 0152 ey




14. Consider the following results from a titration lab.

4.50 g of KOH was dissolved to make a 100. mL solution
Below is the volume of the KOH solution needed to neutralize 15.0 mL H3PO4.

Trial #1 Trial #2 Trial #3 Trial #4
Initial reading of 2.56 8.95 13.35 17.55
burette (mL)
Final reading of burette 8.95 13.35 17.55 21.75
(mL)
Volume of KOH (mL) E_%ﬁML 4 HYomlL L‘.ZBML YH.20mL

a. What is the concentration of the standardized solution of KOH?

HS04 vou 1900 m L

x 2 Teolyon
|00.("\l_ | L gL'”SKOH N ’ OgDZMKOH
—-\

b. What was the average volume of KOH was needed? (Only use data from three trials!!)
sk elininate oviiecs'

b yoml + 4 20mL + 4 20mL

=

42741 Kou

3 -

c. Whatis the concentration of the acid?

““3?0\' + LY — K3P0\| + 2H,0

| L
L‘.’z-v"‘l-\(gl.\ % % O&DZMMKOH |M°‘H;P0q PN e
lO\)OML lL 3ﬂ\\\<°H .00 N MolePO.'
0.00\\“‘\ vol HaPOy ‘DQBML

\X\.

]S DO mlL ) L




